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Inthe figure above, what s the area of region D 7

(1) Region D has 50% ofthe area of region
€, and region C has 50% ofthe area of
region 8

() The area of region A s 800 acres.

D Statement (1) BY ITSELF is suficientto
answerthe guestion, but statement (2) by tself
is not.

@ Statement (2) BY ITSELF is suficientto
answerthe question, but statement (1) by tself
is not.

Dont lstthe diagram mislead you

Staternent (1): INSUFFICIENT
Use vaiables ta represent the areas. 20= C and 2C

8,504D= B Buthow s Brelated 1o A? We arent
told and we cant assume that the area of A is twice
the area as it appears in the figure.

Staternent (2): INSUFFICIENT
Now we know that A= 800 acres, or halfthe total
acres, butwe arent given anything about 0.

Together: INSUFFICIENT

Even with all ofthe infarmatian ahout 4, 8, G, and
D, there is yet another area that we arenttold
anything about (the unlahelled one) and it could vary
drastically in size.
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though NEITHER statement BY ITSELF is
sufficient.
EITHER staterment BY ITSELF s sufficient to
answerthe question

(1)
are NOT sufficientto answer the guestion,
requiring more data pertaining to the problern.
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Inthe figure above, what s the area of region D 7

(1) Region D has 50% ofthe area of region
€, and region C has 50% ofthe area of
region 8

() The area of region A s 800 acres.

D Statement (1) BY ITSELF is suficientto
answerthe guestion, but statement (2) by tself
is not.

@ Statement (2) BY ITSELF is suficientto
answerthe question, but statement (1) by tself
is not.

Dont lstthe diagram mislead you

Staternent (1): INSUFFICIENT
Use vaiables ta represent the areas. 20= C and 2C

8,504D= B Buthow s Brelated 1o A? We arent
told and we cant assume that the area of A is twice
the area as it appears in the figure.

Staternent (2): INSUFFICIENT
Now we know that A= 800 acres, or halfthe total
acres, butwe arent given anything about 0.

Together: INSUFFICIENT

Even with all ofthe infarmatian ahout 4, 8, G, and
D, there is yet another area that we arenttold
anything about (the unlahelled one) and it could vary
drastically in size.
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though NEITHER statement BY ITSELF is
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answerthe question

(1)
are NOT sufficientto answer the guestion,
requiring more data pertaining to the problern.
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